Conditions
Iff=(1,2),(23),(3,4),(4,5),
g= (11 'Z)f (31 '3)1 (5/ '5); and
h=(1,0),(2,1),(3,2),
find the following and state the domain

2d.f/h

2f.g*f*h

Solution

Notice: We can consider the question about the domain only if these functions are from some
subsets of R. If theirs range is in R* (as you wrote pairs of numbers), we have no information

about the domain.
So, let’s assume that:
Fl1)=2;f(2)=3;f(3) =4;f(4) =5.

g(1)=-2g(3)=-3;5(5)=-5

£ is defined only for peints 1 and (domain: 1,3)
g
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2)
frg-hisdefined only for points 1 and 3 (doemain: 1,3)
f.g.h[ljzz.(_zj-ﬂz{)

Ffrg-h(3)=4-(-3)2=-24
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